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Subject-Specific Marking Instructions
Guidance on applying the marking grids for set text translation

The general principle in assessing each section should be the proportion (out of 5) of sense achieved.

One approach for each section is given. Acceptable alternatives will be illustrated during Standardisation, but examiners should assess on its own merits
any approach that satisfactorily conveys the meaning of the Greek — the crucial consideration being the extent to which every Greek word is satisfactorily
rendered in some way in the English.

The determination of what a “slight” error is only necessary when it is the only error in a section; this distinction will then determine whether a mark of 5 or 4
is appropriate. Where marks of 4, 3, 2, 1 and 0 are applicable, the overall proportion of meaning conveyed in the section is the only consideration. The term
“major” error has been used here to determine an error which is more serious than a “slight” error.

The classification below should be seen only as a general guide, the intention of which is to maintain standards year-on-year. Lead markers should
consider each instance on its own merits in the context of the passage and the section.

The sort of errors that we would generally expect to be considered as a “slight” error are:

e a single mistake in the translation of a verb, for example incorrect person or tense;

e vocabulary errors that do not substantially alter the meaning

e omission of particles that does not substantially alter the meaning (although in certain cases the omission of a particle may not count as an error at all,
most especially with pev... d¢)

The sort of errors that we would generally expect to be considered as a “major” error are:

e more than one slight error in any one verb

e vocabulary errors that substantially alter the meaning

e omission of a word or words, including alteration of active to passive if the agent is not expressed

e missed constructions

e alteration in word order that affects the sense

The final decisions on what constitutes a “slight” and “major” error will be made and communicated to assessors via the standardisation process (after full
consideration of candidates’ responses) and these decisions will be captured in the final mark scheme for examiners and centres.

Marks Description

Accurate translation with one slight error allowed
Mostly correct

More than half right

Less than half right

Little recognisable relation or meaning to the Greek

= NW,A~,O
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Guidance on applying the marking grids for the 10-mark extended response question

Two Assessment Objectives are being assessed in Questions 1(i), 2(i), 3(g) and 4(i) — AO2 (Demonstrate knowledge and understanding of literature) and
AO3 (Critically analyse, evaluate and respond to literature). The two Assessment Objectives are equally weighted.

Examiners must use a best fit approach to the marking grid. Where there are both strengths and weaknesses in a particular response, particularly
imbalanced responses in terms of the assessment objectives, examiners must carefully consider which level is the best fit for the performance overall. For
example, you should not be able to achieve a mark of 8 made up of AO2 = 6 and AO3 = 2.

Responses are credited for AO2 for the detail and accuracy of the knowledge of the set text they deploy and for their understanding of the set text as well
as the social, historic and cultural context for the set text. For the highest level, candidates are expected, where relevant, to bring in knowledge and
understanding from the material they have read in English.

Responses are credited for AO3 for how well the response addresses the question, for candidates selecting relevant examples from the set texts they have
studied and drawing and expressing conclusions based on the selected examples in relation to the question posed. Candidates will be assessed on the
quality of the conclusions and points they argue and the range and quality of the examples they have selected.

10-mark grid for the extended response question AO2 = 5 marks = Demonstrate knowledge and understanding of literature
AO3 = 5 marks = Critically analyse, evaluate and respond to literature

Level | Marks | Characteristics of performance
5 9-10 | e detailed knowledge and excellent understanding of the material studied in Greek including, where appropriate, the social, cultural and
historic context and, where relevant, material studied in translation (AO2)
¢ well-argued response to the question which is supported by a range of well-selected examples (AO3)
The response is logically structured, with a well-developed, sustained and coherent line of reasoning.
4 7-8 | e good knowledge and sound understanding of the material studied including, where appropriate, the social, cultural and historic context
(AO2)
¢ a good response to the question which is supported by some well-selected examples (AO3)
The response is logically structured, with a well-developed and clear line of reasoning.
3 5-6 | « some knowledge and understanding of the material studied including, where appropriate, the social, cultural and historic context (AO2)
¢ a reasonable response to the question which is supported by some points from the set text (AO3)
The response presents a line of reasoning which is mostly relevant and has some structure.
2 3-4 | e limited knowledge and understanding of the material studied including, where appropriate, the social, cultural and historic context
(AO2)
¢ a limited response to the question which is occasionally supported by reference to the set text (AO3)
The response presents a line of reasoning but may lack structure.
1 1-2 | e very limited knowledge and understanding of the material studied including, where appropriate, the social, cultural and historic context
(AO2)
¢ a very limited response to the question with very limited reference to the set text (AO3)
The information is communicated in an unstructured way.
0 = No response or no response worthy of credit.
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Question Answer Mark | Guidance
1 (a) Accept any two of: AO2 For what reason did Xerxes convene this meeting?
The conquest of Egypt was complete (1); 2

he wanted to find out what the leading men of the
country thought about the war with Athens (1)
he wanted to explain his own wishes about this. (1)

1 (b) Assess against criteria in the 5-mark AO2 grid (see | AO2 The below are intended as examples of “slight” and more serious
above). 5 “major” errors, others may be identified at standardisation.
avdoeg [Tégoat, oUT adTOS KATYToopUAL VOUOV TOVDE Slight

&v OV t0¢eic, mapadeEdpevioc e avTe XONOOUAL WG
YO0 €yw muvOavoual TV MEECTRUTEQWY, OVOAUK KW
nNroepioapev, émelte mageA&Pouev TV 1)yEHOVINY
™mvde magax Mndwv, Kvgov kateAdvtog Aotvdyea Major
AAAX Oedc Te OUT Ayel kal avTOLOL ULV TTOAAX
ETETIOVOL CUUPEQETAL ETIL TO KLLELVOV.

Suggested translation:

Men of Persia, | will not myself be the first to bring in this
practice amongst you and having received it | will use it.
For as | learn from (my) elders, we Persians have never
yet kept quiet since we took over leadership from the
Medes, when Cyrus deposed Astyages, but god leads in
this way and as we ourselves pursue many activities
things turn out better.

1 (c) Accept any four points and award up to two marks AO3 | tx pév ... duiv (lines 6-15): how does Xerxes highlight the
each. Assess against point-by-point marking grid 8 significance of what he is proposing?
below.
2 expresses a valid point based on a Any valid answer to the question will be given due credit.

relevant aspect of content or aspect of
literary style, with accurate, relevant and
suitably explained reference to the Greek

1 expresses a valid point, but is not fully
supported by an appropriate selection of
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content or aspect of literary style or
reference to the Greek

0 Point is not valid, or none are drawn

Answers may include:

e Kvupog te kat Kaupvong matio te <0> €pog
Aapeioc: the list of revered names culminating in
Xerxes’ father; the early positioning in the
sentence provides some further emphasis.

® KATEQYAOAVTO Kal mpooektoavto: two verbs
to emphasise their activity (note Tpoo-).

e mapéAafov tov Bgovov Ttovtov: draws attention
to his status as king.

e ¢@poovtilov: imperfect tense, indicating activity
over time.

e Acipouar: emphatic future tense.

e TV mEOTEQOV Yevopévwv: picks up on the
names mentioned earlier, and again underlines
Xerxes’ royal heritage.

e und¢ éAdoow mEookTrioopaL dUvVaLy: verb also
repeated, though here for what Xerxes himself
will do.

* Ao pev ... aua de: ties together two aspects of
what he wants to achieve

e kLOOG MLV TEOTYLVOLEVOV: SO heroic glory is put
first (note Trpoo-)

® 0UK ¢éA&TOOVAa 0VOE PAAVQOTEQNV
nappopwTéonyv te: three comparatives, the last
most positive

e TNV te Kal Tlow: strongly linked abstract
nouns

e 10 Dpéag vov éyw ovvédeEa: underlines the
reason for Xerxes’' speech

1 (d)

He intends to build a bridge over the Hellespont (1)
Then take an army through Europe to Greece (1)
So that he can take vengeance on the Athenians (1)

AO2

HEAAw Cev&ag ... €uov (lines 15-17): what proposal does
Xerxes make?
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For what they did to the Persians and his father (1)
1 (e) Accept any four points and award up to two marks each. AO3 Tl deloavteg ... puaxnv (lines 1-8): how does Herodotus
Assess against point-by-point marking grid below. 8

2

expresses a valid point based on a
relevant aspect of content or aspect of
literary style, with accurate, relevant and
suitably explained reference to the Greek

expresses a valid point, but is not fully
supported by an appropriate selection of
content or aspect of literary style or
reference to the Greek

Point is not valid, or none are drawn

Answers may include:

Tl deloavteg: first of three short, abbreviated
questions (tt ... xoinv ... xoinv), which allows

Mardonius to suggest the Greeks do not pose a
threat

Eruotapeda pev ... émotapueOa do: repetition to
underline the weakness of Greek uaxnv and
dvvauLy

nadag: used as a derogatory term
kataotoepapevol: underlines the domination of
lonia

év 1) uetépn: Mardonius emphaises that these
Greeks now live in ‘our’ territory

Twvég te kat AloAéeg kat Awpléec: the list of
three (of the four) Greek tribes underlines the

Persian mastery of the Greeks (and this would
be even more effective for a Greek audience)

emphasise the strength of Mardonius’ argument here?

Make four points and support your answer with reference to
the Greek text.

Any valid answer to the question will be given due credit.
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e &men)Onv d¢ xat avtog: highlights Mardonius’
personal experience (without emphasising his
previous lack of success)
e UTO MATEOG TOL 00V keAgvoDeic: family link
e péxot Maxedoving: again, this probably works
better for a Greek audience
e OAlyov dmoAwmovtt &¢ avtag AOnvac: the
particular role of Athens in the lonian revolt and
in Persian ideas of vengeance highlighted
e 0Vdelc NvTwO”N €c paxnv: Mardonius argues
that the Greeks will not dare to oppose
1 (F) The Greeks start wars without making plans through folly |  AO2 KaltoLye ... yivovtal (lines 9-14): what details does
and ineptitude (1) 4 Mardonius reveal about Greek warfare?
When they do fight, they find the most beautiful and most
level place (1)
With the result that the victors depart with heavy losses
(1)
And those who are defeated are utterly destroyed (1)
1 (9) Assess against criteria in the 10-mark essay grid 10 How does Herodotus make his depiction of Persians in his
(see above). made | Histories vivid and entertaining?
up of
Arguments may include (AO3): AO2 = | An AO2-heavy response may focus on details from the set texts
5 but not draw many valid conclusions. This is likely to limit the
Herodotus sets out some of the background in the set & level at which this work can be rewarded.
text and also presents the arguments through different | AO3 =
speakers. Candidates may focus on the way in which 5 Examiners should credit any accurate references to relevant

these individual speakers are characterised, and also on
the way in which their arguments are presented,
reflecting their status at court. They may also comment
on what they have found ‘vivid and entertaining’ in
Herodotus’ presentation of the Persian court. There is no
“right answer”, all arguments put forward by students
should be assessed and credited on their own merits.
Marking focus should be on how competently the
response gathers and interprets evidence from the text,

material outside of the Greek prescription that a candidate brings
into their answer.

Credit discussion of Herodotus’ sources and general approach
to historiography.
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rather than whether the examiner agrees with the
conclusion.

Supporting evidence may include (AO2):

e Xerxes' lack of interest in attacking Greece,
focusing first on Egypt (7.5)

e The role of Mardonius and his justification for the
proposed invasion (7.5)

e Mardonius draws attention to the injury done to
Persia by the Athenians (7.5)

e Mardonius emphasised the beauty of Greece
(7.5), but he also had hope of being appointed
governor (7.6)

e The role of the Aleuadae from Thessaly and also
the family of Pisistratus who brought
Onomacritus, a collector of oracles to Susa (7.6)

e Herodotus credits this Greek advice with
persuading Xerxes, though he first dealt with
Egypt (7.7)

e Xerxes called a conference where he announced
his intention to invade Greece (7.8)

o Xerxes emphasised the activity of the Persians
since the time of Cyrus, so he wanted to add to
the power of Persia (7.8)

e Xerxes sets out his plan for invading Greece via
the Hellespont, reminding the leading men of
Darius’ intentions and the damage caused the
Athenians with Aristagoras at Sardis and the
defeat of Datis and Artaphernes at Marathon
(7.8)

e Xerxes thinks that conquering Greece & Europe
will underline the importance of Persia and
ensure there are no rivals to match them (7.8)

o Xerxes wants the leading men to bring troops,
but he also invites an open debate (7.8)

e Mardonius responds by praising Xerxes as the
greatest, as he intends to punish the Greeks for
what they have done, and he highlights the
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weakness of Greece, including their way of
fighting that brings disaster on the losers ((7.9)
Mardonius also highlights that the Greeks did not
come to face him when he led an army into
Macedonia, so he claims the Greeks will not
resist if the Persians march in with all their forces
(7.9)

There was silence after Mardonius’ words, until
Artabanus, Xerxes’ uncle, responded, who
brought up the difficulties faced by Darius (his
brother) in Scythia where many men were lost
(7.10)

Artabanus underlines the high reputation of the
Greeks, and the victory of the Athenians at
Marathon; and he points out the risk, especially
with a weak point over the Hellespont, where the
Greeks had had an opportunity to harm Darius,
and only the support of Histiaeus prevented this
(7.10)

Artabanus urged Xerxes to take time over his
decision, and emphasised the importance proper
preparation (7.10)

Artabanus also highlighted that God acts against
the great ones who show off and bring down
vengeance on their heads; God ‘in his envy’
brings defeat on great armies (7.10)

Artabanus draws attention to Mardonius’
enthusiasm and his one-sided portrait of the
Greeks; and offers a bet to Mardonius, that each
should stake their children upon the outcome
(7.10)

Artabanus prophesises that Mardonius will bring
disaster upon Persia and his body will be prey to
dogs (7.10)
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Question Answer Mark | Guidance
2 (a) Assess against criteria in the 5-mark AO2 grid (see | AO2 The below are intended as examples of “slight” and more serious
above). 5 “‘major” errors, others may be identified at standardisation.
Tl 8¢, O Zakparteg, £pn O Koltwv, &AL ye 1) mdAat pou Slight
Aéyel O HEAAWV 0oL dWoELY TO PAQUAKOV OTL XO1 oot
@oalev g EAdxOoTa  duwxAéyeoOal  @noL  yaQ Maior
OeopatvecOatl HAAAOV dlaAeyoUévoug, delv D& OVOEV )
TOLOVTOV TIQOOQEQELY TQ) PAQUAKW: €l O¢ ur), éviote
avaykaleoOat kal dig kKat TIg TiveLv TOUG TL TOLOVTOV
TolovvVTaG.”
Suggested translation:
‘Socrates’, said Crito, ‘only that for a long time the man
who will give you the drug has been saying to me that |
should tell you to speak as little as possible. For he says
that men who speak more grow warm, and you ought
not to add anything like this to the drug. Otherwise,
sometimes those who act like this have to drink poison
a second or third time.’
2 (b) Any two of: AO2 | kai O ... magéxel (line 6-9): what do these lines show us
Socrates is unworried about taking a second or third 2 about Socrates’ character?
dose of the drug (1)
And tells Crito to tell the guard to prepare it (1)
Crito says he knew what Socrates would say (1)
2 (c) Accept any four points and award up to two marks each. | AO3 | {a avtdv ... teOvavar (line 10-18): how does Socrates
Assess against point-by-point marking grid below. 8 introduce his argument in response to Simmias’ challenge?
2 expresses a valid point based on a Make four points and support your answer with reference to the
relevant aspect of content or aspect of Greek text.
literary style, with accurate, relevant and
suitably explained reference to the Greek Any valid answer to the question will be given due credit.
1 expresses a valid point, but is not fully
supported by an appropriate selection of
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content or aspect of literary style or
reference to the Greek

0

Point is not valid, or none are drawn

Answers may include:

o avtdv: Socrates quickly moves away from the
interruption of the guard

vuLv on Tolg dukaotais: Socrates acknowledges
he needs to provide a ‘defence’ as if he were in
court before jurors (dikaotalc)

Tov Adyov dmodovvat: Socrates is going to pay
what is owed, an account that will satisfy his
listeners

t@ ovti common Platonic idiom, here
emphasising that Socrates is speaking about
genuine philosophers

&v @pLlooopia dwxtoipag tov Plov: a phrase
which could be seen to embody Socrates’
approach to life

Oappelv ... xat eveAmic elvar: here Socrates
seeks to explain why he is optimistic

ékel péylota  oloeoBar  ayaba: Socrates
emphasises the advantages that death holds for
the philosopher (note middle verb)

000wc antopevol prrocopiag: so only a select
group of people will be capable of achieving this
ovdév aAAo: emphasises the goal
érutndevovoty: philosophers apply their skill to
this problem

amoBvnokewy te kat teOvavat: credit discussion
of the two tenses of the infinitive.

2 | (d)

Any three of:

It would be strange if philosophers who have been
looking forward to death through their whole lives (1)
Did anything but this (1)

But were annoyed when death arrived (1)

AO2

eLovv ... emetndevov (line 18-21): according to Socrates, what
follows if this argument is true?
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Which they had been preparing for and looking forward
to for so long (1)

2 (e) Any three of: AO2 How does Simmias respond to what Socrates has just said?
He says that Socrates made him laugh (1) 3
He says that most people would think this an attack on
philosophers (1)
Because they are half-dead already (1)
And death would serve the philosophers right (1)
2 (f) Accept any three points and award up to two marks | AO3 | paivetai ... avtwv (line 1-10): how effective is the language
each. Assess against point-by-point marking grid below. 6 that Socrates uses to convince Simmias in these lines?

2 expresses a valid point based on a
relevant aspect of content or aspect of
literary style, with accurate, relevant and
suitably explained reference to the Greek
1 expresses a valid point, but is not fully
supported by an appropriate selection of
content or aspect of literary style or
reference to the Greek

0 Point is not valid, or none are drawn

Answers may include:
e @Lroodpov dvdpoc: this argument can only be
applied to the philosopher
e ¢omovdaxkéval: emphasis on the main activity
pursued by a philosopher
*  TEQLTAG 1)OOVAS KAAOVHEVAS TAS TOLAODE, OOV
oltiwv te kal totwv: so Socrates seeks to tease
out what separates a philosopher from others,
with particular reference to pleasure. The
question is designed to elicit the answer it does
from Simmias
e Tl 0¢ TG TWV A@EOdWiwv: an abbreviated
repetition: Socrates runs through the main
distractions that face men.

Make three points and support your answer with reference to the
Greek text.

Any valid answer to the question will be given due credit.
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*  TaC AAAQG TAC TeQL o owpa Oepamelac: here
he continues with other ‘bodily’ pleasures.

e dokel oot évtipovg 1yetobat 0 TolovToG: again
Socrates emphasises that we are considering a
very particular sort of person (philosopher).

e iuatiowv dlapedvTwV KTIOELg Kal
vnodnuatwv:  Socrates  again  highlights
something that would appeal to ordinary men,
but not to a philosopher

® TV dokel ool N} atpalerv: Socrates makes
the argument easy for Simmias to assent to by
using repeated ideas

2 (9) Any three of: AO2 | qtpdlew ... tetpdpOal (line 11-14): what conclusions do
3 Socrates and Simmias reach?
The true philosopher places no value on them (1)
So a man of this kind should be not at all preoccupied
with the body (1)
But as much as possible should stand apart from it (1)
And turn towards the soul (1)
2 (h) Assess against criteria in the 10-mark essay grid 10 ‘For Socrates, death was not something to be feared.” How well
(see above). made | does Plato’s Socrates make his case in the Phaedo?
up of
Arguments may include (AO3): AO2 = | An AO2-heavy response may focus on details from the set texts
5 but not draw many valid conclusions. This is likely to limit the
Candidates should focus both on the argument & level at which this work can be rewarded.
presented in the sections they have studied and also the | AO3 =
manner. There is scope to discuss Socrates’ interaction 5 Examiners should credit any accurate references to relevant

with those who were present, including the prison guard,
as well as the way he varies his line of argument.
Candidates should evaluate how effectively Socrates
sets out his views concerning the significance of death
for the philosopher and the response of his followers.
There is no “right answer”, all arguments put forward by
students should be assessed and credited on their own
merits. Marking focus should be on how competently the
response gathers and interprets evidence from the text,

material outside of the Greek prescription that a candidate brings
into their answer.
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rather than whether the examiner agrees with the
conclusion.

Supporting evidence may include (AO2):

e Cebes questions whether philosophers would be
willing to die, as if we are the possessions of the
gods, it would be strange if the wisest men would
be not be sorry to leave the best masters (62cd)

e A foolish person might want to be escape but a
sensible one would want to stay with his superior;
this would suggest that wise men would grieve
when they die, but fools would be glad (62de)

e Socrates said that Cebes was always examining
arguments and did not accept things at face
value. Simmias suggested his remarks were
aimed at Socrates (62e/63a)

e Socrates agreed to defend what he said about
death; he did not grieve because he expected to
join gods and better men, a better outcome for
good men than for bad men (63abc)

e Socrates agrees to explain this; but Crito
interjects that the prison guard suggests that
Socrates not talk so much as the poison may
work differently if he is excited, and he may need
a bigger dose (63e)

e Socrates tries to explain why a man who has
devoted his life to philosophy should be cheerful
facing death; as such a man has in fact been
preparing for death all his life (64a)

e Simmias laughs because most people think
philosophers are half-dead; but Socrates says
they do not understand what this means, and
asks whether there is something called death,
which is the release of the soul from the body
(64bc)

e Socrates asks if philosophers should concern
themselves with bodily pleasures or sex;
Simmias says they should despise such things
but should focus on the soul (64de)
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Socrates the says that most people think that
someone who does not focus on the pleasures
of the body has one foot in the grave (65a)
Socrates points out that sight and hearing are
fallible; and so too the other senses; so the body
leads the soul astray from the truth (65b)

The soul can best reflect when it is free from
distractions, and so the philosopher should seek
to free his soul from the body (65c)

The soul cannot understand beauty and
goodness through the body but through the
intellect, and so must cut himself off from the
body (65de)

Socrates says that the body contaminates the
soul and so the soul cannot arrive at truth,
because of both distractions and diseases. The
body involves us in distractions like war (66abc)
So if we are to get to truth, we must free
ourselves from the body to avoid disturbance. So
we can only attain the wisdom we seek when we
are dead; we cannot know anything properly with
the body, and either it is impossible to know
anything or only when we are dead (66e)

When we live, we can only get close to
knowledge by separating ourselves from the
body except when necessary. We should aim to
purify ourselves until god gives deliverance (67a)
When we are uncontaminated we shall
eventually arrive at truth. It is not right for those
who are not pure to achieve purity. Those who
properly love knowledge would think this way.
Simmias agrees (67b)

So Socrates says there is much hope that one
who has striven in life for learning will attain it
when he goes where Socrates is going (67b)

So we achieve this purity by striving to separate
oneself from the body as much as possible; and
death is a separation of body and soul. This is
what philosophy is all about (67cd)
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o After this sort of training, separating body from
soul, it would be ridiculous for a man to be
distressed at death. So true philosophers are
focused on death, and death should be least of
all fearful to them (67de)




HO044/02 Mark Scheme November 2020
Question Answer Mark Guidance
3 (a) Patroclus lies dead (1) AO2 keltat ... ‘Bktwo (lines 1-2) what news does Antilochus
And men are fighting around his naked body (1) 3 bring?
Hector has gained possession of his armour (1)
3 (b) Assess against criteria in the 5-mark AO2 grid (see AO2 The below are intended as examples of “slight” and more
above). 5 serious “major’ errors, others may be identified at
standardisation.
WS PATO, TOV O’ AXeOS VEQEAT ekdALYE pEAava:
\ , \ s . ) ; Slight
AUPOTEQTOL OE XEQOLV €AWV KOVLV albaAoecoary
XevaTo KAk KePaAng, xaolev O Tjoxvve
TIEOOWTIOV: Major
VEKTAQEW O& XITVL PEAaLY’ appilave Tépon.
avTog O’ €V KovinotL péyag HeyaAwotl tavvoOeig
KELTO, PIANOL 0¢ XeQOl KOUNV TjoxLVE dAllwV.
Suggested translation:
Thus he spoke, and the black cloud of pain covered him.
Taking the sooty dust in both hands he poured it down
over his head, and he defiled his beautiful face. Black
ash settled upon his fragrant tunic. Achilles lay there,
stretched out huge and far and wide in the dust, and he
defiled his hair tearing it with his own hands.
3 (c) Accept any four points and award up to two marks each. |  AO3 | duai d ... o (lines 9-15): how does Homer make this a
Assess against point-by-point marking grid below. 8 powerful and moving scene?
2 expresses a valid point based on a
relevant aspect of content or aspect of Make four points and support your answer with reference to
literary style, with accurate, relevant and the Greek text.
suitably explained reference to the Greek
1 expresses a valid point, but is not fully Any valid answer to the question will be given due credit.
supported by an appropriate selection of
content or aspect of literary style or
reference to the Greek
0 Point is not valid, or none are drawn
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Answers may include:

e Oduwat: changes the focus of the passage to the
minor characters

e Axwevg Aniooato ITdtookAdg te: this links
Achilles and Patroclus, and also highlights the
status of the dpwai

e  Ouvpov axnxépeval peyal’ taxov: emphasises
their grief, women played an important part in
grieving

e &k & Ovpale / €doapov: the women were inside,
but here enter the public sphere; the
enjambement of the verb helps emphasise their
activity

e omOea memAryovto: one of the ritual actions of
grieving

e AVOev O UmO yvia ékdotng: emphasises the
impact on each of them (and also reminds us of
a formula employed in battle for men)

e 00VEeTO dAkpLa AelBwv: emphasises his grief

e xeloag éxwv AxiAnog: Achilles’ excessive grief,
like his excessive anger, is a potential problem
for the Greeks

e {¢oteve xkvdAAov kno: the focus returns to
Achilles

o deldle yap N Aapov anaunoeLe od1Qw: raises
the prospect of suicide.

3 (d) Any three of: AO2 What has Thetis just said to provoke this reaction from
Thetis addressed him in tears (1) 3 Achilles?

She must lose Achilles to an early death (1)
Directly after Hector dies (1)
Achilles’ own doom is certain (1)

3 (e) Any three of: AO2 avtika teBvainy ... yevéoBau (lines 1-3): how does Achilles
He prays for his own death (1) 3 show his sense of responsibility for what has happened?
As he was not able to protect his comrade as he lay
dying (1)
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He has perished far from his homeland (1)
And Patroclus needed him to be his defender against
destruction (1)

3 (f)

Accept any four points and award up to two marks each.
Assess against point-by-point marking grid below.

2 expresses a valid point based on a
relevant aspect of content or aspect of
literary style, with accurate, relevant and
suitably explained reference to the Greek

1 expresses a valid point, but is not fully
supported by an appropriate selection of
content or aspect of literary style or
reference to the Greek

0 Point is not valid, or none are drawn

Answers may include:

e vOv 0': strong pointer back to the -current
situation, though this section deals with
significant decisions made by Achilles

e 0V véoual ye @iAnv &g matoida yaiav: Achilles
has made his decision to seek vengeance and
so seal his fate

e 0vd¢ Tt INatpdkAw yevounv @aoc: interesting
visual image

e 0Vd’ étdoolot / tolg &AAowg: many other Greeks
had died, just as Achilles had asked of his mother
at the start

e ol 0On moAéeg Odapev  ‘Exktoot diw: the
responsibility is placed on Hector

e A&AA’ fuaw: Achilles draws attention to his own
failure to participate

e mapa vnuotv: not fighting, in other words

e ¢totlov dx0og apovpng: a devastating phrase to
apply to himself

AO3

viv 8’ ... avaykn (lines 4—-16): how does Homer make this an
intense and emotional speech?

Make four points and support your answer with reference to
the Greek text.?

Any valid answer to the question will be given due credit.
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e TOlIOG ¢fwv oilog oL Tg Axawov: Achilles’
predominence in war is highlighted by the impact
of his war cry
e dyopn dé T duetvovég elot kat dAAou he also
shows some self-awareness of his own
limitations
e ¢ €01 €k te Bewv &k T avOownwv amoAotto
Kal xoAog: powerful use of abstract nouns to
underline just what lay behind the disastrous
events that led to this situation
e TOAL YAvkiwv péAltog  kataAeBouévolo:
change of direction to emphasise just how
effectively anger/strife can work their way into the
hearts of men. Credit discussion of ‘honey’
e nNute «kamvog: credit discussion of the
significance of smoke here
o &xOAwoev ava&: the responsibility lies with
Agamemnon
e to pev mpotetvxOau: Achilles draws a line under
the past
e dxviuevol ep: emotional state
e dapaocavteg avdyxn: powerful final word
3 (9) Assess against criteria in the 10-mark essay grid | 10 made | How does lliad XVIII highlight the importance of warfare to
(see above). up of Homeric heroes?
AO2=5
Arguments may include (AO3): & An AO2-heavy response may focus on details from the set
AO3 =5 | texts but not draw many valid conclusions. This is likely to limit
Candidates will focus primarily on the set text, selecting the level at which this work can be rewarded.
details of this story that show how the death of Patroclus
impacts both sides in the fighting and also refocuses Examiners should credit any accurate references to material
Achilles’ attention on what has happened in his absence outside of the Greek prescription that a candidate brings into
from the fighting. their answer.
Candidates may focus on Achilles’ determination to take
his revenge on Hector and the significance for him (his
own early death and lasting glory).
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There is no “right answer”, all arguments put forward by
students should be assessed and credited on their own

merits.

Marking focus should be on how competently the
response gathers and interprets evidence from the text,
rather than whether the examiner agrees with the
conclusion.

Supporting evidence may include (AO2):

Antilochus came to Achilles to tell him about the
fighting. Achilles had already guessed something
had gone wrong, leading to the death of the best
of the Myrmidons.

Antilochus told him that Patroclus lay dead, with
fighting over his body. Achilles put dust on his
head; he tore at his hair on the ground. The slave
girls wept around him.

Achilles cried out and his mother heard him. (38)
Thetis lamented in her cave. ‘I bore a son but will
never welcome him back home. | cannot help
him in his grief.

Thetis came to Achilles and took his head in her
arms. She asked him what grieved him; had not
Zeus done as he wished.

Achilles agreed he had, but the death of
Patroclus hit him hard. Hector has taken the
armour belonging to Achilles. Achilles now
wishes revenge.

Thetis tells him that his death will soon follow
after the killing of Hector.

Achilles wishes to die at once as he could not
save Patroclus. He remembers his anger against
Agamemnon. So he decides to fight against
Hector and accept his own death when Zeus wills
it. Even Heracles died. So he wishes to win great

glory.
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Thetis told him it was good to save his
companions. But he no longer had armour, as
Hector had it now, but not for long. She told him
not to enter the war until she returned with
armour from Hephaistos.

She told her nymphs she was off to Olympus to
see Hephaistos. And so they all left.

Meanwhile the Achaeans fled from Hector's
attack, and the Trojans were gaining Patroclus’
body back. Three times Hector almost got it but
was battered away by the two Aiantes. But
Hector did not give up.

He was like a tawny lion who country shepherds
try to chase away from a carcass.

Iris came from Olympus to tell Achilles to arm
himself, Hera had sent her. She told him to enter
the battle.

Achilles asked who had sent her; she told him
Hera.

Achilles said that he had no armour, and Thetis
had told him to wait. He could have used the
armour of Aias, son of Telamon, but he was
using it.

Iris then suggested he went to the camp ditch
and showed himself to the enemy, as that would
give the Greeks some relief.

Achilles rose, and with him Athene with her
aegis; she placed a golden cloud round his head
and made a flame burn from it.

As when smoke rises from a city on an island
where enemies attack, so they hope the smoke
from a line of beacons will bring neighbours to
help them.

At the ditch Achilles shouted, with Athene
shouting beside him, terrifying the Trojans.
Achilles’ voice was like a trumpet sharp and clear
when a city is attacked.
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e The Trojans were shaken with fear, even their
horses turned, and their charioteers when they
saw the flame over Achilles.

e Three times Achilles shouted; Twelve of the
Trojans died by their own chariots or spears. The
Greeks dragged Patroclus out of range.

e His companions mourned him, as did Achilles,
shedding warm tears as he could not welcome
his trusty friend home whom he had sent to war.
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Question Answer Mark Guidance

4 (a) Any two from: AO2 What has Medea just said to provoke this response from
Medea has said she is utterly destroyed (1) 2 Creon?
Her enemies are now in the ascendant (1)
There is no easy escape from her situation (1)
However she will ask Creon why he banishes her (1)

4 |(b) Accept any four points and award up to two marks each. AO3 dédoK& 0. petaotévew (lines 1-10): how does Euripides
Assess against point-by-point marking grid below. 8

2

expresses a valid point based on a
relevant aspect of content or aspect of
literary style, with accurate, relevant and
suitably explained reference to the Greek

expresses a valid point, but is not fully
supported by an appropriate selection of
content or aspect of literary style or
reference to the Greek

0

Point is not valid, or none are drawn

Answers may include:

0édowca o': he starts abruptly, straight to the
point

oLdEV det mapauTtioxewv: Creon wants to make
his meaning clear

pn pol Tt d0pdomc mald’” aviikeotov kakov: the
initial 1 dpdong is expanded by avrkeotov
kaxdv, and Creon also makes clear that his fears
centre on his child

TOAAx ToLde detypata: Creon picks out the
evidence on which this fear is based

ooQT) TEPLKAG Kal Kakwv TOAA@V 0oLs: here
he emphasises Medea’s reputation for unnatural
cleverness

Avm): her emotional nature is also important
AékTowVv avdeog éotepnuévn: this is one of the
themes developed in the play

convey the depth of Creon’s concerns about Medea?

Make four points and support your answer with reference to
the Greek text.

Any valid answer to the question will be given due credit.
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e ameldelv 0 so Medea’s intemperate words
come back to be used against her

* TOV 0OVTX Kal ynpavta kat yapovpévnv: this
repeats the idea that Medea will do some harm,
but extends beyond the daughter to himself and
to Jason

e dpaocewv T emphasised by enjambement; the i
draws attention both to Medea’s weakness and
strength (her cleverness)

e Tmolv mabetv puAdEouat: Creon wants to act in
good time

e Kkoelooov: the alternatives before Creon are
revealed here, and his initial choice would, as it
turns out, have been better

o amexBéobal petaotévery:  compelling
contrast

4 (c) Assess against criteria in the 5-mark AO2 grid (see AO2 The below are intended as examples of “slight” and more
above). 5 serious “major’ errors, others may be identified at
standardisation.
0V VUV He EToV AAAx oAAGkis, Koéov,
EPAae DOEA peydAa T’ elgyaoTal Kakd. Slight
Xom O oUTo0’ 6OTIC ARTIPEWYV TEPUK ™ AV
nadag mMEQLOOWS %Kétéé&m{saem 00@OUC: Major
XWOLS Yo AAANG 116 €xovoty apylag
@OOVOV MEOG AOTWV AAPAVOLOL DVOUEVT).
Suggested translation:
Not now for the first time, Creon, but many times my
reputation has harmed me and done me much harm. A
man who is intelligent by nature should never have his
children educated to be excessively clever. For, apart
from the other disadvantage, namely idleness, which
they have, they incur hateful envy from the townspeople.
4 (d) Those who put forward new wise ideas to fools (1) AO2 okawolot p&v ... avn (lines 17-20): how does Medea
seem to be not wise but useless (1) 4 describe her situation here?
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But when dealing with those who think they know
something clever, (1)
If you are considered superior in the state, you will
appear wretched (1)

Creon is driving Medea out from Corinth as an exile (1)
Aegeus asks if Jason accepts this (1)
And also suggests that he thinks this is wrong (1)

AO2

Koéwv ... émveoa (lines 1-2): what do these lines reveal
about Medea’s situation?

Accept any four points and award up to two marks each.
Assess against point-by-point marking grid below.

2 expresses a valid point based on a
relevant aspect of content or aspect of
literary style, with accurate, relevant and
suitably explained reference to the Greek
1 expresses a valid point, but is not fully
supported by an appropriate selection of
content or aspect of literary style or
reference to the Greek

0 Point is not valid, or none are drawn

Answers may include:
e Adyw pév: she picks up on his disapproval of
Jason’s behaviour
e &vtopat oe: direct appeal as suppliant
e TNode TEOG yevelddog: suppliant gesture
e Yyovatwv Te TV owv ikeota: further suppliant

gesture. Medea make a strong claim for Aegeus’
attention

e oiktioV olkTIQdV: repetition of an emotive word

e pe v dvodaipova: the choice of adjective
highlights her position

e Kalun ... elodnge: leading to another imperative

AO3

Adyw pev ... pagpaka (lines 3—13): how does Medea make
this plea powerful and appealing to Aegeus?

Make four points and support your answer with reference to
the Greek text.

Any valid answer to the question will be given due credit.
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o W éonuov éxmecovoav: Medea highlights the
plight she is in

o OéEaw d¢ xwoa kat dopolg epéotov: the line
becomes more precise to bring Medea within the
protection of the hearth

e vévouro ... Oavols: Medea makes a prayer on
his behalf

e £pwc ool oG Bewv teAeopopog: suggestive of
what service Medea may do for him

e cbonua O’ ovk oicO’ olov Nvenkag tode: here
Medea emphasises what she herself can bring
for Aegeus

e mavow Y€ o’: verb emphatically to the front to
emphasise Medea’s agency

e amawa kal maldwv yovag omelpal oe Onow:
Medea knows how to bind Aegeus to her bidding
here.

e 1O olda @dopaxka: Medea here puts her
reputation to good use

4 (9

Assess against criteria in the 10-mark essay grid
(see above).

Arguments may include (AO3):

Candidates may choose to approach this in a variety of
ways. Discussions of cleverness may focus on the
references to Medea’s skills, both by herself and by
others in the play such as Creon, Aegeus and Jason and
also on her actions both helping Jason and dealing with
obstacle such as the princess.

When candidates consider vulnerability, they may focus
on the way Medea presents herself at different points to
Creon, Aegeus and Jason, as well as her own

10 made
up of
AO2=5
&
AO3 =5

To what extent has Euripides succeeded in making Medea
appear both clever and vulnerable?

An AO2 heavy response may focus on details from the set texts
but not draw many valid conclusions. This is likely to limit the
level at which this work can be rewarded.

Examiners should credit any accurate references to material
outside of the Greek prescription that a candidate brings into
their answer.
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uncertainty about her decision to kill her children and the
impact this has on her mental state.

There is no “right answer”, all arguments put forward by
students should be assessed and credited on their own

merits.

Marking focus should be on how competently the
response gathers and interprets evidence from the text,
rather than whether the examiner agrees with the
conclusion.

Supporting evidence may include (AO2):

Creon directs Medea to leave with her sons
immediately because he fears what she might do
to his daughter.

Medea bemoans her cleverness and the envy it
has brought. She says her special knowledge
has limits, and she would not offend against
kings. Her hatred is reserved for Jason.

Creon distrusts her as an enemy.

Medea begs for Creon’s help, and in the end
asks for one day to organise leaving. She asks
him to pity her children.

Creon relents, threatening death if she does not
leave after this (355)

Aegeus greets Medea as a friend and they
discuss the oracle.

Aegeus realises Medea is upset and learns what
Jason has done. Medea tells him what Jason has
done and also what Creon has decreed.
Aegeus is sympathetic and Medea appeals to
him, offering to help with his childlessness.
Aegeus offers refuge, but Medea has to make
her own way to Athens. Then Aegeus is
persuaded to swear to protect her should anyone
pursue her (758).

Jason returns at Medea’s request.
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Medea asks forgiveness, having given herself a
good talking to about her need for friends. She
says she should have supported Jason’s
relationship and marriage with the daughter.
The tutor brings in the children.

She asks the children to join with her in saying
goodbye to Jason. She embraces her children.
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